
Starburst 5 Prek                                              Count by Tens

Name: 25 points total

Class:
Fill in the boxes. Count by 10.  .5 for each correct answer, 10 points if all 
correct. 

Fill In the boxes. Count by 10s. 
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Connect the path between the Leprechaun and the pot of gold by counting by tens. Color in 
the path as you go. 

Counting by tens, color in the path between the Leprechaun and the pot of 
gold.  26-30 correct blocks = 7 pts, 21-25 = 6 pts, 16-20 = 5 pts, 11-15 = 4 
pts, 6-10 = 3 pts, 1-5 = 2 pts, 1 pt if attempted.  The yellow 90 is fine instead 
of the red 90. 

 

 

 

 

 

 

 

 

 

 

 



Use the numbers on the following page to cut and paste the numbers in the 
correct boxes. 
.5 for each correct answer. Total of 8 points. 

 

 

 

 

 

10 50

90 110 130

140 170 190

30 40 60

70 120

150 160 180



  


